o) 093

M) B S
Doaas pls @90 Ao Olo)lw
oLz sladl uriwl
/ DAy Jdal 0395 oL
1 4dhio 2 gL j 9
98 / t oo ladd LS
DS S ) ) D Solels all g plo

1) 2% %x3%x 7% = 64 x 243 x 2401 = 37340352

)5 X 3% = 5 x 81 = 401

2)—3*=-81

5)8—-3%*—(4x5)2=8-81-20%2=8—-81—400=—473

») 3 x 1012 =3 x 1000000000000 = 3000000000000

)07 %x7°-4%=0%x1-1=0-1=-1

5) —4% x (=5)* = —=1024 x 625 = —640000

2)11 =103 x 3*+ (25 +3)2 = 11— 81000 + 35 X 35 = 11 — 81000 + 1225 = —79764

G 11)53 453 453=3x53=3x%x125=2375

o) 7%+ 7?2 =49+ 49 =98

1

2)3X(134+7)+(10—-42)=3x20+ (10 —4?) =3 %20+ (10 — 16) =3 x 20 + (—6) = 60 + (—6) = —10

3) (=5 X 4)2 = 42 x (=3)2 = (=20)2 = 42 x (=3)2 = 400 ~ 16 X 9 = 25 x 9 = 225

6)52—(32-13)x2%+42=52-(9-1)x2%+42=52-8x2%+42=25-8x16+16=25—-8=17

5) (72 =52)(6 X 32 + 4) X 20 = (49 — 25)(6 X 9 + 4) X 20 = 24 X 58 X 20 = 27840

) (53 +25)x (23 +23)+22 = (125+25)x (23 +23) =22 =5x (23 +23) +22=5x (8 +8) =4 =20




)52 —(32-13)x22+42=52-(9-1)x22+42=52-8x22+42=25-8%X4+16=23

L) (=7 %x2Y) +24x (—4)? = (=7 x16) ~ 2* x (=4)? = (—-112) + 2* x (-4)* = (-112) ~ 16 x 16 = —112

3)(35—=53)(23—32) +22 = (243 -125)(28 —32) +22=118%x (8 —9) + 4 =118 x (-1) + 4 = —?

35 =243 , 53=125 .
2x10=20 , 219=1024 ‘

42 + 43 =16+ 64 =80 , 45 =1024
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210 4 210 = 1024 + 1024 = 2048 , 211 =2048 ‘

(_1)20 =1 , _ 1100 =—1 .

01 =0, 100°=1 :

-3*=-81, (-3)*=(-3)x(-3)x(-3)x(-3)=9%x9=81 ‘

—35=-243 , (-3)°=(-3)x(-3)x(-3)Xx(-3)%x(-3)=9x9x(—3) =—243 ‘

1+2x2%x2=05%x2x2=2, 1+23=1+8=0.125 ‘






